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اسئله المقال

كان عن يتيم 
orphan is kid ____ parents are death 
whose
How many Parts of an Essay
a- Two b- Threec- Fourd- Five
^
الجواب اكيد (three ) ,واكتشفت اني حماره حاطه two [image: http://www.ckfu.org/vb/images/ashwqsmile/36.png]
-----
برضو سأل عن الـ Unity ايش تعريفها 
والخيارات كانت واضحة والتعريف موجود 

سأل عن Coherence
الخيارات فيها لف ودوران من ضمنها ماذكر الصياغة بالضبط :
paragraph without transition signals
شككتني (without ) فاخترت خيار ثاني ناسيه وشو والله !
لأن الجواب الصـح اللي في المحتوى هو : paragraph has transition signals

-----------------
سؤال برضو عن انواع الـ itntrductry السؤال كان وشو اللي مو من أنواع المقدمة .

----------------
جاب كذا قطعة وسأل ايش نوع المقدمة .. 

-----------------
Japanese people live longer than most other nationalities ……. they eat healthful diets.
الجواب طبعا : For 
--------------


Cigarette smoking is a factor in longevity …………. Japanese and other long
-lived Asians have a very high rate of tobacco use.


الجواب : yet

------------------------
Doctors say that stress is another longevity factor
……….. try to avoid stress if you wish to live a longer life.

الجواب : so

-------------------

حاب اسئلة عن الـ thesses statement بأي جزء من البرقراف ، الجواب : itroductry

-----------------


فيه سؤال بعد جاب قطعة صغيرة والسؤال عليها كم برقراف راح يكون المقال ؟ !

انا بالاول اخترت 2 ، والسؤال الثاني اخترت 

The purpose of Transition paragraph is to 
(أ)restate the thesis statement
(ب)conclude the essay
(ج)start the essay
(د)to conclude one section and introduce another

In organizing a compare-and-content essay, 
(أ‌) the block method
(ب‌) the point-by-point method
(ج)process analysis
(د)A and B only

an essay that explain the stages of a process
(أ)definition
(ب)process analysis
(ج)compare-and-contrast
stage analysis(د)

semicolons can be used to
join independent clauses







	

	
Well developed paragraphs

state the main point (أ) 
reinforce the main idea (ب) 
(ج)lead the reader to the next point
(د) All of the above.

: Finally and in conclusion are transitions of

(أ) summary or conclusion
(ب) cause and effect
(ج)sequence and addition
(د)none of the above

A (n) _______is a general way of rephrasing

(أ)annotation
(ب)abstract
(ج)summary
(د)None of the above


_____________Colons can

(أ) supplement a comma
(ب) introduce a list
(ج) take the place of a semicolon
(د) All of the above

	· 



· 
· 
· 
· 
we use the transition signal >furthermore to introduce 
1 an clarificaion
2 an option
3 an extra idea
4 a summary

we use ..............to sum up 

1 an clarification
2 list in order
3 an instance
4 a summary

we use ........... consequently 

1 a result
2 a different idea
3 a summary 
4 an option

we use............. otherwise 

1 an extra idea 
2 an opposite idea
3 achoice or alternative

	· نسيت بعد ال such as وش هي 

1 a choice 
2 an example
3 a conclusion
4 a consequence

	· 



	· 

un = not

indebted = thankful


· early = earliest

· القطعه 
· Wool rugs woven by women of the Navajo tribe in Arizona and New Mexico are highly valued works of art in the United States.


· 
any orphan is a person _______ ا 
who 
whos
whom
which 
· The conclusion 
- explain main topics
777- repeat the author point of view

· لكل مين بودي قراف !؟

· explain and provide theises statment 

· 
· people live longer than most other nationalities, for the eat healthful diets.

smoking is a factor in longevity, yet Japanese and other long-lived Asians have a very high rate of tobacco use.

Doctors say that stress is another longevity factor, so try to avoid stress if you wish to live a longer life


· 222semicolons : 


· 222the lawyer argued that the weather was bad , that the car had poor brakes , and that the other driver was speeding .
كان السؤال عن نوع ال فاصله
	· 
· it is sunny yet cold .

اختيار نوع الرابط

	· 

	· 
· 
· jones , smith , and jackson presented an interesting report .

كان السوال عن طريقه اختيار من متعدد نفس ال جمله بس اماكن الفاصله مختلفه


	· 
· i am a little hungry . for i didn't eat breakfast this morning .

اختيار نوع الرابط في الجمله

	· 




	· 
· the newlyweds could not decide whether to live with her parents or to rent an apartment .

اختيار نوع الرابط في الجمله

	· 











	· 


· 
· the lawyer argued that the weather was bad , that the car had poor brakes , and that the other driver was speeding .
· السوال عن نوع الفاصله^^^^^^
· 
· the newlyweds could not decide whether to live with her parents or to rent an apartment .

اختيار توع الرابط
	· 

	· 
· i am a little hungry . for i didn't eat breakfast this morning .

اختيار نوع الرابط في الجمله

	· 



· 
· it is sunny yet cold .

اختيار نوع الرابط
	· in conclusion we use signal words : in short

	· 



	· 
· we went to disnyland ; we had a great time .
he ate six hotdogs ; he also got a stomach ache . 

نوع الفاصله ف الجملتين السابقتين

	· 



	· 
· i have this advice for you : If you are going to tour three theme parks in one day,wear comfy shoes!
the hotdogs were missing a key ingredient : chili

نوع الفاصله في الجملتين السابقتين

	· 

	· 
· using parallel structure in your writing will help with ?

economy , clarity , equality and delight 

يعني الجواب All

	· 


· 
· most colleges now have a writing requirement for graduation ; for example \ for instance , students at my college must pass a writing test before they register for their final semester .

في الاختيار ماذكر اي وحده فيهم اللي جاتنا << بس كذا او كذا صح
	· student must take final exams; otherwise , they will receive a grade of incomplete .

	· 

	· doctor say that "fad" diets do not work , yet many people still try them .

	· 

	· 
· human workers can detect malfunction in machinery ; a robot can also .


robots can detect malfunction in machinery, as \ just as human workers can .

	· 



	· 
· comparison \ contrast Essay organization style : 

point by point 
and
block organization

	· 
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